ltem: CKING SIZE
KING SIZE

Quality statement
we ensure that each box contains exceptional components that will exceed your expectationschecks,

Care Instructions
Please follow the instructions provided below for proper care of your product. Following these tips will
ensure your furniture's high-standard quality remains as it ages

¢ Vacuum regularly to eliminate dust as they can be abrasive and wear the furnirture prematurely

» Never use harsh chemicals or solvents as this may damage the finish

e Limit contact with liquids as this may damage the finish

 Bolt spills immediately to prevent staining. If necessary, gently wipe using a clean cloth dampened

with warm water. Proceed to brush lightly after drying
e If you choose to use a professional product, test the fabric in a discreet area for any signs of defect

 Stains from markers, pens, crayons, and pens may be difficult to remove. We recommend that you
consult a professional

Page 1 of 11




PARTS LIST

PLEASE CHECK TO ENSURE ALL PARTS ARE IN THE BOX

A 1PC L 1PC

Headboard Panel Left Leg

R 1PC D 1PC

Right Leg Footboard

E 2PCS G S5PCS

Side Rails Wooden Slats

Iron Tubes Footboard Legs

Page 2 of 11




HARDWARE LIST

PLEASE CHECK TO ENSURE ALL PARTS ARE IN THE BOX

@

16PCS

@

16PCS

® 20PCS

1/4"x1-3/4" Allen Bolts

5/16"x1" Allen Bolts

5/16"x2-1/8" Allen Bolts

%ﬁ@ﬁﬁ@ﬂ@@ﬁ@@ﬁﬁ@ﬁ @Y&W@X@&K S
@ 2PCS ® 44PCS
1/4"x3"Allen Bolts Flat Washers
@///////////////////////////////////////////////////////////////////////////////A @
® 22PCS @ 1PCE
Spring Washers Wrench
G§§9 <: Ty
=

Page 3 of 11




HARDWARE LIST

PLEASE CHECK TO ENSURE ALL PARTS ARE IN THE BOX

10PCS ©) 1PC
Nuts 5/16 Allen Wrench 1/4
\_/_j
//r =
1PC
Allen Wrench 5/16
~
7 -
@ 10PCS © 4PCS

Support Feet

L-metal Plates

D

Page 4 of 11




IMPORTANT!!

To assemble the full unit straight, please do not tighten the individual screw completely,
only tighten the screws halfway through before positioning other screws. After all the
screws are in position, secure the screws tight and completely.

Tips:

**Please check the thickness of your mattress and box spring before proceeding.
1)

Assemble the Legs (L & R) and Headboard (A).

IMPORTANT!

Please check the thickness of your
mattress and box spring before proceeding.

Box Spring : .
+ Mattress Adjustable Headboard Heigh

Under10" T match 4#
10"~14" T match 3#
14"~18" T match 2#
18" T match 1#
® 4PCS ® 4PCS
Flat Washers Spring Washers

O

©) 4PCS ©) 1PC

1/4"x1-3/4" Allen Bolts Allen Wrench 1/4

~—
A~

% LUNAABRABARABRABARAY

Page 5 of 11




2)

Assemble Footboard Legs ( J ) to Footboard (D).

®

2PCS

®

2PCS

Flat Washers

Spring Washers

Q

@

2PCS

©

1PC

1/4"x3" Allen Bolts

Allen Wrench 1/4

@(//////////////////////////////////////////////////I//////A

~)
A~

[

Page 6 of 11




To assemble the full unit straight, please do not tighten the individual screw completely,
only tighten the screws halfway through before positioning other screws. After all the
screws are in position, secure the screws tight and completely.

3)

Unfold the Side Rails(E), assemble the Iron Tubes(H) to
Side Rails(E).

O 12PCS 5 12PCS © 1PC

1/4"x1-3/4" Allen Bolts Flat Washers Allen Wrench 1/4

=~
é LANABARABARAABRABARANY ﬁ

Page 7 of 11




To assemble the full unit straight, please do not tighten the individual screw completely,
only tighten the screws halfway through before positioning other screws. After all the
screws are in position, secure the screws tight and completely.

4)

Assemble the L-Metal Plates(@) to Side Rails(E).

,@ :

o ©F

@) 8PCS 5) 8PCS
5/16"x1" Allen Bolts Flat Washers
% LAVAIAANABABABABABABAAAAANY
®) 8PCS 1PC
Spring Washers Allen Wrench 5/16

o =

Page 8 of 11




To assemble the full unit straight, please do not tighten the individual screw completely,
only tighten the screws halfway through before positioning other screws. After all the
screws are in position, secure the screws tight and completely.

5)

Attach Side Rails(E) to the Left Leg & Right Leg (L/R)

and Footboard(D).

o, /)
Y

® 8PCS ® 8PCS
Flat Washers Spring Washers
@ 8PCS 1PC

5/16"x1" Allen Bolts

Allen Wrench 5/16

S

)

~J

[

Page 9 of 11




To assemble the full unit straight, please do not tighten the individual screw completely,
only tighten the screws halfway through before positioning other screws. After all the
screws are in position, secure the screws tight and completely.

6)

Assemble Wooden Slats(G) and Support Feet (@).

Adjustable

There are adjustable levelers underneath
each Feet Please adjust to make the mattress

support system even.

®

10PCS

10PCS

1PC

Flat Washers

Allen Wrench 5/16

)
—

®

20PCS

1PC

5/16"x2-1/8" Allen Bolts

Wrench

s

@

Page 10 of 11




T N~

Page 11 of 11




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11

